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= — REHAS | m 1 2 3 4 5 6 7 8 9 10
o= REES | w2 | mmm | mm | GanE) EEE | BEE | PEEN | P
- — (CHm) : : L FRRI | momm e B = il
SHTIEE Do () (T i) (ki) (FHi) (P #5) (T (1 K #) (T )
FARFEHE R06. 01. 24 | R06.01.29 R06.01.29 R06.01.29 | R06.01.29 | R06.01.29  R06.01.29 | R06.01.29 | RO6.01.29 RO6.0L.29
ERKEER] - 10:15 | 12:35 09:25 | 10:20 09:00 10:40 14:40 | 09:25 | 11:30 12:15
& LG 3 A W W O W s W
TR i W T 0 i i 0 3 03
AR B o L | b | e L b s s Fols
i) NEHE NEFE | EwE | NEER JE R NEE (Al I NE 7 R
SR ) 6.1 1.6 | 5.2 7.5 51 I 7.3 10.9 100 13.0 11.2
kiR (C) 6.9 1.0 | 36 | 5.5 50 | 7.0 | 95 | 47 | 85 | 12.2
MR -  EEEE | RRECE RKREER RAGE | PIREAGCE | RKRAE BEEH | KAGE  RKEB  EAEH
= - BIAR | BIAR  HBFAR 82 BTFAR BFAR HrAE  EE | HIAR  HES
7 R BE () 35.3 38.5 20. 4 48.0 | 19.0 44.0 | > 50.0 41.0 >50.0 | >50.0
pH 6.5 ~ 8.5 6.9 | 1.5 7.6 7.6 | 1.2 7.5 7.4 7.7 | 1.8 6.8
BOD mg/L)| 5  LF| 81 | 7.6 1.7 1.8 | 3.7 | 371 3.2 2.3 1.3 9.5
COD (Mn) (mg/L) = | 10.4 | 9.3 4.4 43 | 60 | 57 ~13.3 6. 4 45 | 6.9
Ss - (mg/L)] 50 BAF 9 14 14 6 |18 9 12 ' 9 2 | 3
DO (mg/L)| 5 LAk 7.3 10.4 11.9 1.9 | 8.0 1.6 3.9 12.1 14.2 | 7.4
REF (me/L) - 9.08 7. 43 1.49 1.82 | 6.30 425 | 16.9 3.37 2.92 11.1
ESR2 - (mg/L)|  — 0. 945 1.11 0.109 |  0.123 0.252 0.15 22.8 0.417 0.136 |  1.47
HRITA  (mg/L)| 0.003 BAT | == = | — = I = [l == = = — N = Do
YT o (mg/L) [Bttiahmvoe]  — = |_ — = — — — | — = —
) ~ (@g/w)| 001 HUTF = = | = - = | = = [ = - =
A7 & A (mg/L)| 0.05 LT = = = = = | = = | = — =
UF (mg/LY| 0.01 LT = — = _ == = | = - | = — —
HRIKER (mg/L) | 0.0005BATF|  — = | = = = Il = = ] = = =
"PCB (mg/L) [Husansenz el — - - | — =_ = = i — — =
vramRiyy (mg/L)| 0.02 BF|  — = | N — ——— = = —— = =
POl 58 ~ (mg/L)| 0.002 LT = = = | - = = = | - - —
,2-¥7onxg (mg/L)| 0.004 UF|  — - - | = - = <A = =
L1-¥/opxzFL v (mg/L)| 0.1 BT = _ | = I = = = = = = — =]
AL, 2-Y/maxzF Ly mg/Li| 0.04 BT = = = = - — — = = —
LL,1-rl7mpxg (mg/L)| 1 BT — - - = = . = = = = =
,,2-hYsunxF (mg/L) | 0.006 LATF - = = = ' = | = — = = — Sl
NP AES mg/L)| 0.01 LT — - - = = e — —
FhrIsmnnTFL  (mg/L)| 0.01 BT = [ = = — | S | = = = — —
L3-Yronra~y (mg/L) | 0.002 LLF - - - — | - | = - = - =
FUF A (mg/L) | 0.008 LAF = = = = | = = = | = — =
P4 (mg/L) | 0.003 LAF = — = = | = — i | = — =
FASRCINT  (mg/L)| 0.02 LT — — = | = - = = = — -
R % (mg/L)| 0.01 KT = = = = = = ___= —— — —
T (mg/L)| 0.01 AT = — — - —= L | = = — =
WEMERRCERBEER /L0 ST — = = — - - - = [ = —
s me/L)| 0.8 BF| - | — = = = = - - [ = —
5% (mg/L)| 1 BT = @ = | = = — = = = = =
L4a-vAFHr (mg/L)| 0.05 LI - | — = - = = = = = =
e e (mg/L) = == = = = = = = = = —
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— I — 11 12 13 14 15 16 | 17 18 19 20
SSHTIE B T | (cEm) | meEw | D% A% REGRAK XESE | OFEE | BSR% (MBEE | TE% | EAKH
BASFEAR RO6.01.29 | R06.01.29 [ R06.01.29 | R06.01.29 | R06.01.29 ~ROG.01.29 | ROG.01.29 | R06.01.29 | R06.0L.29 | RO6.0L.24
Rk EZ — 14:45 | 13:45 | 14:10  13:40 | 13:25 | 13:00 | 11:55 | 11:10 | 09:55 | 09:25
i [@3 W W % 0 " W m i wo
o 4R W CH I . . A A
FAE ] N T ol b T O
e NEFE | ME Ew | R | JEw | JEm | IEW JE# EBR
SR C) 12.3 | 12.8 | 117 14.3 1.5 | 11.5 | 11.0 9.0 | 55 | 4.4
kiR o C) 1.2 | 9.2 | 115 | 7.5 8.7 | 7.0 6.0 1.5 | 43 | 6.6
S8 WIRHEE | KARK RKEER | RKEE | RKRAER RKEEH RKAGE | RREH JPIKEEH REAHE
R - BTIAR | BFAE HBTAR | HTAR | HFAR | BTAR  HTAR | BHE  HTAE | HES
B ® |/ >50.0 | >50.0 >50.0 | >50.0 >50.0 | >50.0 | >50.0 |>50.0 | 16.0 | > 50.0
p H - | e5~85 8.4 7.6 8.0 7.6 | 1.9 8.0 7.3 | 91 | 1.5 7.7
"BOD (mg/LY| 5 WTF 2.0 0.9 3.8 3.6 4.2 1.6 3.2 | 6.4 2.0 2.2
C OD (Mn) (mg/L) - I e9 3.9 6.7 | 1.4 7.1 5.5 4.7 | 9.0 6.4 6.5
'Ss - (mg/L)| 50 T 6 3 | s 3 4 | 8 8 4 s 4
DO (mg/L)| 5 BE] 125 12.3 17.8 8.9 13.7 | 13.4 105 | 235 | 10.7 1.4
X I (mg/L) — 3.93 0.93 2.84 4.11 6.22 |  0.48 3.35 | 3.30 |  2.66 0. 44
EIP% (ng/L) - 0.685  0.043 | 0.130 0.140  0.400 | 0.059 ~ 0.074 | 0.116 |  0.257  0.034
A RITL (mg/L)| 0.003 AFf  — | = . = T —= | = | = | = . = | —
AN (mg/L) |RiES ez & - = — = | — | — =t — = I
E) - (mg/L) | 0.01 KT = | = J = I ="]J = | = 1T = | = 1 = —
Az o b (mg/L) | 0.05 LIF - . = | = = = =— == = - =
053 - (mg/L) | 0.01 BATF| —= | = | = | = . — | = . = | = — —
#IKER (mg/L) | 0.0005LLF - = | = = = = = = = =
PCB  (ng/L) [Enmwce - - ' - = | - - = = — =
CrunAFy (mg/L)| 0.02 BAFY — | = | = = | = 1] = | = - [ = -
(migppE  mew| ooenr| - - - = | = = | - - = | =
,2-/7onxTg (mg/L) | 0.004 LAF =_m == 1 == = [ = | = T ="T = T = -
Li1-YsraITFLy mg/L)| 0.1 HF =__ i = I = = L = 1 = 1T = = | = =
VA-L2-VymuxFLy  (mg/L)| 004 BT = | = _ = - = o~ - - | = 1T =
LLl-FYZmrx&y  (mg/L)| 1 BT = - - | - . - | - — [ = = —
LL2-hYZmazsr  @meg/b| oo UF| — - =_ | = = | = = L= T = ] =
KysZmaxFL v (mg/L)| 0.01 LAF - = | = i = _ — | = | = — =] | —
FhIs/mnIFLy mg/L)| 001 MF| - | - [ = | - = = = = [ = —
,3-Yronrsa~s (mg/L)| 0.002 LATF = _ = = | . — | — - = | = =
RN  (mg/L)| 0.006 BAF | = = | = = | = = — = -
| e (mg/L)| 0.003 LATF —= || — = | = = = = = . =
FARANT (mg/L)| 0.02 BT — . - - | - — — — = = =
~_rr (mg/L)| 0.01 BT = = || __ = | = - = = — = =
Tl (me/L)| 0.01 WUTF e - | - — — - — - —
WELME TR R U HE SR (me/L) | 10 BT = | = | = = _ — _ = — = = =
7% (mg/L)| 0.8 HF = = = = P = i ___=__| = | - = | =
5% - mg/L| 1 HUTF = | = __= =_ | = I = 1T "= — - -
L,4-TUAFY {mg/L)| 0.05 BT [ | D= = | = Il = | = | = | = | = =
_!?a.'?_ftq?ﬂ-'f Ve (mz/L) = - [ - | — = = = = _ = = =
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CETIEY N — 21 22 23 24 25 26 27 28 29 30
T | (cEmm) |AEERIR| mmun | BN | smm | DEEL | TEEZ ) REES | REEL | B | wEe

SHTER A 3K (FHiE) FkERAR | FAEHE | FARE | KRR | mARE

EZZ3E "RO6. 01.24 | R06.01.29 | R06.01.29 | R06.01.29 | R06.01.29 | R06.01.29 | R06.01.29 | R06.01.29 | RO6.01.29 | R06.01.29
BRAKFFR 09:05 12:50 13:25 11:45 09:40 09:55 10:25 10:45 11:05 | 11:20
S HiE W | iE i H M| W s B W 5

- %A o W | W | W | W | HE i i i

FoRILE - - Holo ol oo el > ol ol il ol
i - = B [ [ I 3 IB#R | IEH NE#H IIE 32 IE 3
SR o) 4.0 9.9 | 119 8.4 50 | 6.0 7.9 7.2 8.8 9.2
AR C) 5.3 6.0 6.6 7.0 8.2 7.6 9.0 7.6 | 88 | 43
S N RIREE | AAEE | TIKAE | ALGH | AAER | RAAHR | RAGHE | AAEE  REAEGH | BEED

BE ET) BEE | BRE | BrAR | BIAR | BIAR | BrAR | BIAR  BIAR | BMS
TR (B) > 50.0 > 50.0 14.0 > 50.0 > 50.0 > 50.0 > 50.0 > 50.0 42.0 > 50.0
pH N 6.5 ~ 8.5 7.9 = 7.8 | 76 | 14 | 7.4 7.4 | 1.3 7.4 | 82
BOD o mg/L)| 5 UTF 1.8 2.6 1.0 69.8 2.1 1820- | Wi5= |5 by wilk SE0PRE | 4.6

COD (n)  mew| - 45 6.1 4.5 10.5 3.6 6.7 9.2 57 | 50 | 6.5
SS (mg/L)[ 50 LTl 4 | 10 39 10 | 4 7 8 6 | 7 [<1
DO mg/L| 5 BE| 117 10.3 13.3 8.9 | 9.4 8.3 8.5 77 | 1.6 | 16.3
BEF (mg/L) = 0.78 4.64 2.61 1.8 | 3.18 6. 49 8.89 |  7.03 3.83 2.74
2y (mg/L) - | o.027 0.283 0.090 | 0.320 | 0.185 0. 329 0.461 |  0.349 0.132 |  0.319
A RIT L (mg/L)| 0.003 LAF = = = = i = = = = | = =
e (mg/L) Bt s = & - - = e — — - | = -

& mg/L)| o010 UF[ - = = Il = [l = = = = = | =
A7 7 2 e/ | 0.05 LT = = = = = = - = = =
[0 (mg/L)| 0.01 KT = = = = = = = = = —

B R (mg/L) | 0.000554F - - = - - - - -
"PCB (mg/L) |Reetisnzen & - - - - — - - — = =
TranAry (mg/L)| 0.02 BT - = =_ | _= = = = — = ==
Mk (mg/L)| 0.002 LA | = = = = = = = — — =

~ mg/w)| 0.004 T — — - - - - = - [ = =
L,1-¥ZrezFLbry @] 01 UF[f — = = = = = = = [ = -
VA-,2-V7maxF L (mg/l)]| 0.04 LIF = | = = = = = = = | — —
Ll,l1-kllZumxsy (mg/L)| 1 LT = | = | = = = | = = = o

L1,2-RYzponxsy (mg/L)| 0.006 LAF = = = = = = = = = = =
F)ZzmezFLy @D 001 UF| — = = = i = = = - - =
FhozopzFLy (mg/L)| 0.01 HF = = = = = = = = = =
1,3-Yzoaroy (ng/L)| 0.002 HATF - = | = I = 1T = T = - - - -

| TV T A _{oig/L) | 0.006 BAT | = = L= I = N = I = = = = =

B> - (ng/L) | 0.003 AT = = = = = = = | =~ =
FARINT (mg/L)| 0.02 HUTF - = | = - i = I = | = =

| ~E - - (mg/L)| 0.01 KT — =L = - == = = . = [T = - -
Ly - Cmg/w)| 001 MF[ - = = = Il = = - | = = | =
B ERROEMBREEER e/l | 10 UT — = - | =1 =T = = | = - -

| 7 o - mg/L)| 0.8 KT - = - B = = - | = = = |
EPES (mg/L) | 1 LT == = _ = - — - | = | = = =

| 14Uy (mg/L)| 0.05 LT[ — = = = = - ‘ = — = =
0 o s (mg/L} = = = = == = = = = =] =
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——— FRRAAS | mwe 31 32-;? 33 34 35 N 36 37 38 39 |40
TTe— 3 N 515 T FihiAYE A ;
DHTEHE i 0 (CIE) | /PbEk s ;iﬁg ékig | gg%ﬁﬁ?*ﬁgg RIHEARE | Ej\ﬂ_%j;gﬁ% f f{@gﬁé’f“ (AT it B )|
SKER A _ RO6. 01.29 | R06.01.29 | R06.01.29 RO6.01.24 | R06.01.24  RO6.01.24 | R06.01.24 | R06.01.24 | R06.01.24 | R06.01.24
ki - B 12:15 12:30 13:10 | 11:50 13:10 | 12:55 11:35 | 13:40 13:20 12:30
= G . N R A B R |
ETH I W | H i B0 W M
BB L wh | w | Wb wL | m Bl | b - w
il - CfE | fEE | JER | AR lgsw | NEER MRsE | MEER =  IRFR
iR c) 1.1 | 1o | 109 | 7.7 6.6 | 66 | 59 | 63 178 7.9
KR c) 9.2 | 42 | 10.2 11.0 9.8 | 7.0 6.4 | 1.5 7.5 | 63
ES ] | AGE TEGCE| KARE KRELE RREGE KKERE | TEREH | TEAR | RKER | REeE
AR — BTAR BrAR | HEE | Brokil | FFAE | BIAR | HFKE  BHIAR | BmR | mA
BERE () 36.2 | 102 [I>50.0 43.2 | 26.7 | 20.5 6.6 | 17.3 | 38.1 | >50.0
‘pH | 6.5 ~ 85 7.7 7.3 86 | 7.0 21 | 75 | 7.3 | 15 | 19 | 84
BOD - (mg/L)| 5 BAF[ L4 | 342 | L5 6.3 4.0 6.5 4.0 5.0 o 2.7
COD (M) (mg/L) - | 69 | 81 | 35 9.5 6.2 7.7 6.4 6.6 10.3 4.4
ss (mg/L) | 50  LIF| 36 56 1 <1 15 13 14 16 10 7 7
DO mg/L)| 5 BAE 9.0 | 3.7 13.2 5.8 Y 9.1 8.2 9.4 ~12.8 12.1
LEFR - (mg/D - ~ 5.87 14.3 1.78 8.72 | 6.20 | 485 3.16 3.32 | 0.56 1.99
2 . (mg/L) | - 0.191 0. 958 0.192 0.572 0.308 |  0.143 0.188 | 0.155 | 0.039 | 0.115
ELIEN (mg/L)| 0003 AF| - | — | - 1 - . - _ - . - [ - — ' =
TV (ng/L) [Bpanznnzef  — - | = = | = - | = = = -
S ~ (mg/L)| 0.01 KT = — - | = 1 =1 =1 = - - —
X (iiZA=TN (mg/L)| 0058 AR — | = | = . = [ = 1 _ = = — — 1 —
O3 (mg/L)| 0.01 BT = i = = = = = | — - . = |
KGR ~ (mg/L)| 0.0008LLTF = == T = - [ = - | = — — =
PCB (mg/L) |Ritannozel  — — : = | = — = = - - —
o rH (mg/L)| 0.02 AT = | = | = = I = S = = = —
uh: X Ao S (mg/L)| 0002 LFY - | 0— = = | = = = — - —
L2-Vr/npxd (mg/L)| 0.004 LAF|  — _ = — = | = | = = = = _ | =
LiI-¥Y/mmIFlLr (mg/L)| 0.1 LUF = | = —= = = = ] = — = - |
vA-1,2-¥runzFLr @meg/l)| 004 KT e — - — — — - | = =
LL1-t)smme=dy (mg/L)| 1 LT = — = = = = = = | — =
,L,2-hYZooxgdy  e/l)| 0.006 BT - — — = - — — - = -
F)zmaRrE=FLY (mg/L)| ©0.01 BT  — = = = - - - = | = =
FhFrmRTF LY (mg/L)| 0.01 AT — - - | — — = = = | — =
L,3-Y7unrBy (mg/L)| 0.002 LI = = = | = - | - = — | = 1 =
FI T A (mg/L)| 0.006 LT[  — - - = = — — - | — -
D 74 (mg/L)| 0.003 LATF — = = | — - — — = _ =
FARUANT mg/L)| 0.02 LT[ — - - | = - - - — - -
_E (mg/L)| 0.01 LITF - = = | — — — - — — -
L ) (mg/L)| 0.01 BAF)  — == = = = = = — — —
MR SRR CERRMEER /D |10 ST — = = = = = = = = =
7w ~ (mg/L)| 0.8 LT fi=r | - = = = = = = || = |
EPES me/L)| 1 MUTF — — - | - — — < 0.1 < 0.1 - | =
L4-TVAXYr (mg/L)| 0.05 BT = = — = — = = = = [ =
| A A (mg/L) - — — - — — — 28.0 25.5 — —
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#Fo2 KERAEER TR (KAFHREN) (5/5)
— T T 41 42 43 44 46
—— : — LA . ! 3
syHEE | cm | zmew BEEDN mim | ~ew jﬁ?ﬁé; \ P s
BOKEA R R06.01.24 | R06.01.29 | R06.01.24  RO6.01.24 | RO6.01.24 | R06.01. 24
B3 ~ | 12:10 09:00 | 09:50 10:30 | 10:50 11:05
FiE G R SR i} i} i}
N | %[ i} A . ]
| #EANE - = i/ 20 USSR O iy
i Al - Mg 5 7 IE i Mg Ak
iR () 8.0 100 | 5.7 58 59 | 65
KiE o | 6.8 4.8 | 47 4, 1 58 | 8.8
7R - HEEE | RREEE | BIRER | rﬁé'_* ; RER | RIKER
B MR | BTAKR | BTARR | HTK KB | HTAR
TR () 2u50u0edl > 50.0 _ JI__40.6 31 > 50.0
p H - |65 ~85 8.6 7.4 7.4 7.4
BOD - mg/L)| 5 BAF| 6.0 42 |[D0me | 3.8
| COD (Mn) gL — 13.4 5.4 i 8.2
SIS ~ (mg/L) | 50 HUT 37 1 8 | 5
DO (mg/lL)| 5 LAE| 13.6 8.8 , 1.8 549
EE _ (mgL) | = 0. 86 4.87 | 523 10.0
£y (mg/L) = 0. 080 0.197 0.297 _ 0.617
7 EI YA  (mg/L)| 0.008 UT|  — = 1 = - | = =
27y (mg/L) [mmEnmece - - - = | = =
8 (mg/L)| 0.01 HUTF - | = = - | = -
Rl 7 =2 L (mg/L)] 0.05 LIF = = = = = =
[0 - ] (mg/L)| 0.01 BT = = | = = | == =
| HKER (mg/L) | 0.0005LL T — = ; = = = | —
PCB - (mg/L) [Rei&nie 2 & - = | = | _ = |} = 1» =
Yrma Ay (ng/L)| 0.02 AT - | = — = = —
O 8 o 2 32 _ mw] 0.0 MTH — = - i = _ | =
AL LY A (mg/L)} 0.004 BAT = = = = | =
L1I-YZuaoxFL v C(mg/L)| 0.1 BT = = — - = —
SA-L2-¥ruazF Ly @me/l)| 0.04 LT == = — = = -
LLl-h)r7mmpxs (mg/L) | 1 UT = =_ I = = = —
,1,2-kl oo (meg/L)| 0.006 LAF — = — — = —
FUZopx=FLr (mg/LY| 0.01 AT - = = = = =
ThZ7muxFLr (mg/L)| 0.01 DAF = = 1 — = =2 =
(1L,3T7orrnly (mg/L) | 0.002 EAT = = . = = = = |
F7 7 A o (mg/L) | 0.006 LAF = = = = —- o
ey (mg/L) | 0.003 BAF = ——= == I = = =
FASANT (mg/L)| 0.02 AT = - — o —
A (mg/L)| 0.01 T = = = - = -
R (mg/L)| 0.01 AT = _[_= = = = =
WEEERR CEMBMEER @/L)| 10 UT = | = = = - -
7 v FE (mg/L)| 0.8 LT = | = | = = L = == ___
WL (mg/L) | 1 BT = ' = = = < 0.1 8.9
1,4-% 7]'3F‘H'/ (mg/L)| 0.05 AT = = — — | - | —
= = = — = 24.3 | 2530




